
Finding Reciprocals 
 
1.  Find the reciprocal of 𝑥 in each case, writing your answers in any valid simplified form.   

𝒙 = 𝟏𝟕                                            ⟹ 
1

𝑥
=

1

17
 

 

𝒙 = −𝟏𝟐                                         ⟹ 
1

𝑥
= 

 

𝒙 = 𝟑. 𝟓                                           ⟹ 
1

𝑥
= 

 

𝒙 = −𝟎. 𝟐                                        ⟹ 
1

𝑥
= 

 

𝒙 = 𝟏𝟐. 𝟑𝟕                                       ⟹ 
1

𝑥
= 
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1

𝑥
= 

𝒙 = 𝟖
𝟏

𝟐
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1

𝑥
= 

 

𝒙 = 𝟐
𝟏𝟏

𝟏𝟓
                                    ⟹ 

1

𝑥
= 

 

𝒙 =
𝟏

𝟑
+

𝟏

𝟒
                                  ⟹ 

1

𝑥
= 

 

𝒙 = 𝟏                                        ⟹ 
1

𝑥
=  

 

𝒙 = −𝟏                                     ⟹ 
1

𝑥
=  

 

𝒙 = 𝟎                                        ⟹ 
1

𝑥
=  

 
2. The reciprocal of my number is the same as half of my number.  Find my number.   
 

3. Draw the graph of 𝑦 =
1

𝑥
 on the grid below.   

Hint: All coordinates  𝑥, 𝑦  will form a reciprocal pair (eg  2,
1

2
  and  −

1

4
, −4 .   

 



Finding Reciprocals SOLUTIONS 
 
1.  Find the reciprocal of 𝑥 in each case, writing your answers in any valid simplified form.   

𝑥 = 17                                          ⟹ 
1

𝑥
=

1

17
 

 

𝑥 = −12                                       ⟹ 
1

𝑥
= −

1

12
 

 

𝑥 = 3.5                              𝑥 =
7

2
⟹ 

1

𝑥
=

2

7
 

 

𝑥 = −0.2                       𝑥 = −
1

5
⟹ 

1

𝑥
= −5 

 

𝑥 = 12.37                   𝑥 =
1237

100
 ⟹ 

1

𝑥
=

100

1237
 

 

𝑥 =
13

16
                                            ⟹ 

1

𝑥
=

16

13
 

𝒙 = 𝟖
𝟏

𝟐
                           𝑥 =

17

2
⟹ 

1

𝑥
=

2

17
 

 

𝒙 = 𝟐
𝟏𝟏

𝟏𝟓
                          𝑥 =

41

15
⟹ 

1

𝑥
=

15

41
 

 

𝒙 =
𝟏

𝟑
+

𝟏

𝟒
     𝑥 =

4

12
+

3

12
=

7

12
⟹ 

1

𝑥
=

12

7
 

 

𝒙 = 𝟏                                 𝑥 =
1

1
⟹ 

1

𝑥
= 1  

 

𝒙 = −𝟏                         𝑥 = −
1

1
⟹ 

1

𝑥
= −1  

 

𝒙 = 𝟎                                 𝑥 =
0

1
⟹ 

1

𝑥
=?  

 

2. The reciprocal of my number is the same as half of my number.  Find my number.   
1

𝑥
=

𝑥

2
    ⟹   

2

𝑥
= 𝑥   ⟹     2 = 𝑥2     ⟹     𝒙 = ±√𝟐 

3. Draw the graph of 𝑦 =
1

𝑥
 on the grid below.   

Hint: All coordinates  𝑥, 𝑦  will form a reciprocal pair (eg  2,
1

2
  and  −

1

4
, −4 .   

 
Note the asymptotes at 𝑦 = 0 (the 𝑥-axis) and 𝑥 = 0 (the 𝑦-axis).   


